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o6z (188 ) 2,210,900 x5H x 122 132,654
or=28ss) 1,482,800& *5H «12& 88,968
O¢FAH(1628) 2,033, 1002 »2H 122 48,795
OJls8=(1488) 1,627,4002 *1E 123 19,529
OJls13U4ss) 879,300 x1H =122 10,552
Oa03 27,961
o&z2=+¢ 335,529,000& *1/12 27,961
02 =% 90,046
O=n22e=+¢ 37,405
OFSELE- 8,312& x15H x10A| 2+ 12 14,962
O=1= 8,312& x15H x15A| 2+ 12 22,443
OFHsg 52,641
(OPIE==F =, 10,944
- B Xt 40,0002 x15H 0. 78*12& 5,616
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- Sshd 420,7903 x 15 %0, 15%43] 3,788
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1,816,000 522 x4.8/ 100+ 128 2,093
- I AH25SE)
2,412,700 «124+4.8/100+ 128 1,390
Oclzgesy 70,0002 92 * 122 7,560
OgipgRsy 80,0002 +3% » 122 2,880
ONSHELFHIYR+Y
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03 FUZAlH] 23,400 23,400 0
OF G| 30,0009 * 152« 122 23,400
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mEEEPIT 335,529, 0002 +1.2/12 33,553
06 JHAHIXI &l 55,922 58,335 A2,413
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07 @b Ay 17,476 18,230 AT54
mEB/IER 335,529, 0002 +15/288 17,476
09 RIHAZZXE24 35,914 34,963 951
OZALssaee 35.914
0Jlzag 38,8502 %2 %2552 19,814
04013 19,814,00024+1/3 6,605
OF54+g 38,8502 22 ¥522 4,041
O R4 38,8501 *2% %202 1,554
o4ty 8 3,500
o= 100,000 x2 *23 400
203 YREIH] 3,600 4,800 A1,200
02 FRAIGLLRFHY| 600 600 0
mEESIESEET 40,0009 *15% 600
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OLSMARC 20,000 165155 4,800
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OPCEIZLIHTE 1,150,000& *4CH 4,600
Oz ge1¢g 200, 000& 504 10,000




